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χ(ir) =
C
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µ��� ��� = 2.828

√
χ

(ir)
m T FD"$G

=�� ��� ���������������81��� 2S+1LJ �/� ��� ��	���	����� ��� ���8
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S(S + 1)− L(L + 1)

2J(J + 1)
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���� 5�������
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��� 9������ 
�����8

���� 5������� �	�����
����" I������� ��� TC ����� ��� <	���5��������� ���

,�����	��

χ =
C

T −ΘC

FD"CG

'$



) 
���������� ���������"���

ΘC = 5�����������
�� �����81��5����	�

	�� ����� 5�����������
��� ��������� ��" �����( 0����� 	�� ��
��� ����

�������
�� ,���5���� �/� �������������
�� <��6�"

'����"�������"��

��� 5���������� ��������
��� 9������ ���� 5���
���� ���������������

�	�����
���� 	�� ��� ����
�������� ��7:�" �� ��������� ���� ���	�������8

�� �5������ 9����������	��" ������ ,���5���� �/� �������������
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��� ��� ��������������	�"

���������"�������"��

��� 5���������� ��������
��� 9������ 	���������� 	�������� ����� ��8

�������� 1��5����	� TN ( ��� �����������������
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F���" 2��
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µ��� ���� = g
√

S(S + 1) FD"%#G

��� g = 2"

$"�"! *4����
����6����

���� ��� 9���	���� �� 1������5����	������
� ��� <����� ��� �	:���� 9�8
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Mm = M∞
m ·BJ(α) FD"%%G

Mm = 9�������������	��

M∞
m = ��H���� �7���
�� 9�������������	��

���

BJ(α) =
2J + 1

2J
coth

[(
2J + 1

2J

)
α

]
− 1

2J
coth

( α

2J

)
FD"% G


����

α =
JgJBµB

k T
, µ =

eh

4πme

	�� M∞
m = N�JgJµB ����"
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Ĥ�� = −2
∑

i<j
J���!"Ŝi · Ŝj FD"%4G
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Ĥ�� = −2J��
∑

i<j
Ŝi · Ŝj FD"%DG

=� ����������� ���� ����� 5��A�	������� ������� �	� � �T	��������� 3������

������ ��
� �/� ��� 9���	���5��������� M %&N*

χ(ir)
m =

N�µ2
 

3k T
· g

2

n
·
∑

S′ S ′(S ′ + 1)(2S ′ + 1)Ω(S ′)e−
E(S′)
k�T

∑
S′(2S ′ + 1)Ω(S ′)e−

E(S′)
k�T

FD"%$G

���

E(S ′) = − zJ��
n− 1

[S ′(S ′ + 1)− nS(S + 1)] 	�� Ω(S ′) = ω(S ′)−ω(S ′+1)
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χ(ir)
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N�µ2
 g2

k T
· e2x + 5e6x + 14e12x + 30e20x + 55e30x + 91e42x + 140e56x

1 + 3e2x + 5e6x + 7e12x + 9e20x + 11e30x + 13e42x + 15e56x
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Ĥ�� = −2J��
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Ŝ1 · Ŝ2 + Ŝ1 · Ŝ3 + Ŝ1 · Ŝ4 + Ŝ2 · Ŝ3 + Ŝ2 · Ŝ4 + Ŝ3 · Ŝ4
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χ(ir)
m =

N�µ2
 g2

k T

· 21e2x + 155e6x + 532e12x + 1260e20x + 2365e30x

16 + 126e2x + 310e6x + 532e12x + 756e20x + 946e30x

· +3731e42x + 5040e56x + 5712e72x + 5985e90x + 5775e110x

+1066e42x + 1080e56x + 952e72x + 798e90x + 630e110x

· +5060e132x + 3900e156x + 2457e182x + 1015e210x

+460e132x + 300e156x + 162e182x + 58e210x

FD"%&G

���

x =
J��
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(
χ(ir)

m

)−1
=

(
χ′(ir)

m

)−1

− λ FD" #G

��� ��� 9����	�����������������*

λ =
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N�g2µ2
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8I5������� Ĥ�� = −2J���!����Ŝ1 · Ŝ2 �	�
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�	�� D"  �������*

χ′(ir)
m =

N�µ2
 g2

k T

e2x + 5e6x + 14e12x + 30e20x + 55e30x + 91e42x + 140e56x

1 + 3e2x + 5e6x + 7e12x + 9e20x + 11e30x + 13e42x + 15e56x
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x =
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